:

6.

| (A) Deciduous  (B) Conifers

(A) Tolerance to salt water
(C) Formation of pneumatophores (D) Vivipart
frafeferesfer T (o TACATSR TeITETR) o
(A) TRNG O FEANTO! B)
() fAEHITEE 157 - f

- : I.: I

ANM(R) & GNM-2022
LIFE SCIENCES

Category-1 (Q- 1 to 30)
correct. Negative marks : — v/,

(Carry 1 mark each. Only one option is
Leucoplasts are found in cells of .
(A) Animal (B) Fungi (C) Bacteria (D) Plant
ferSramren®s v cairy snew T
(A) a9 B) A () (D) ®fen
The process of removal of anthers from a bisexual flower is called
(A) Tagging (B) Bagging
(C) Emasculation (D) Cross pollination
@ *fafere Ssfas grem oratsiel) Sepiad @Al 28 O A
(A) B) feramaad ) zwwgerd (D) Fod A T
The red blood cells of camel are ‘
(A) Spherical (B) Oval (C) Polyhedral (D) Rod-shaped
THT (FIRS T& PR A 2 |
(A) TIEI™ (B) fewaR (C) IZoAF (D) weFHE

-
In micropropagation, plantlets are generated in
(A) Water (B) Suitable soil
(D) Sand

(C) Suitable culture medium
TR - AFBCebafet (I SR 2 :
(A) e B) TREEH (O THEE FENIT (D) =

Which one of the following plant products is used in the treatment of malaria ?
(A) Caffeine (B) Quinine (C) Morphine : q_-)) Re
frafafe SfEe AMITds (SR T BiF I<=e 23 ? Ll
(A) JIFEA (B) FZA2A () waRE © wRE _

Which of the following is not included in mangrove adaptation ?

(B) Fleshy stems and

Which type of plants shed their leaves in winter ?

o M




8.

10.

11.

12.

ANM(R) & GNM-2022

Insomnia and hypertension is caused due to

(A) Soil pollution  (B) Noise pollution (C) Air pollution
Sl @ B55-TGBICR FT T

(A) W ¥ (B) M (C) IFT (D) & T

(D) Water pollutio

Which one of the following statements is incorrect ?
DNA is transcribed into mRNA

(A) Gene is a sequence of nucleotides (B)

(C) Genes cannot be changed by any means (D) Genes can be mutated

frafeirs Sferef T (FHD 7T T ?

(A) oz fRefpebiRred o= (B) DNA /(% mRNA g7 st 15 2

(C) R rEmeTEE AfRfes w1 T A (D) ferrea o 9%

How many pairs of nerves constitute the peripheral nervous system of human ?

(A) 12 pairs (B) 43 pairs’ (C) 31 pairs (D) 10 pairs
TER mmwmmmm?
(A) 127EMe (B) 43 TEel (C) 31Tl (D) 10 Twe

spindle fibres are attached to chromosomes at the
(B) Centromere
(D) Nucleolar organizer

During cell division,
(A) Telomere

(C) Chromomere
mﬁwammwmmmmmwwawm

Plants inhabiting in extreme desert environment are called

(A) Hydrophytes (B) Mesophytes (C) Xerophytes (D) Schizophytes
EELLERL) sffaart @oraETR SfEATT Tl T

(n) TRUEWESA  (B) CROTEEON (C) ToAreEs (D) frerwReA

Which of the following is found profusely during the process of eutrophication ?
(A) Algal bloom (B) Eggs of mosquito
(C) Huge aquatic animals (D) Migratory bird

@apupy  (© SN @) s

INM.-2022 (Shift-1) 4
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15,

16.

.

ANM(R) & GNM-2022

Which one of the following is not a neurotransmitter 2

ﬁaﬁﬁ‘cﬁ) A;““Ykhdine (B) Dopamine ~(C) Insulin (D) Glutamate
o Wy T RSRIGTAGE T 7
(A) SufBR=FER (B) T © T (D) P
Which one of the following is an example of local hormone ?
(C) Testosterone (D) Serotonin

(A)  Thyroxin (B) Adrenaline
fAafERosRr (FHD e TAEER SR ?
(A) 2R (B) Sl (C) TERITHIA (D) TR

The movement of chromatids towards the opposite poles is the characteristic of which

phase ?

(A) Prophase (B) Metaphase (C) Anaphase (D) Telophase
e e At (errtres el B W (BT 2

(A) TS (B) TIOICTS (C) SUNTES (D) =S

Disease that occurs due to the presence of excess nitrate in drinking water is
(B) Blue baby syndrome

(A) Adams syndrome
- (D) Turner syndrome

(C) Blueberry syndrome

mmmaﬁmmmﬁm !
| srer BT (D) !?I"'ﬂ?lﬁﬂﬁﬁw
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25.
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. i following ?
Suspended particulate matter (SPM) is related to which of the fo . g : |
(C) Sound pollution (D) Soil pollutj

(A) Water pollution (B) Air pollution s
‘”%5\3
Suspended particulate matter (SPM) fferre @3 A 3 .
(A) w739 (B) g qad (C) ™ 73 (D) Gl
-

Which character of pea plant was not considered by Mendel in his experiment 7 |
(A) Seed form (B) Stem length (C) Flower colour (D) Leaf size
TOF SR T (AEI (rea S AR o 4o FE ? |

(A) FemwFs  (B) WEawG  (C) FEEAS (D) “Irr

The nitrogenous base which is found in the RNA is
(A) Adenine (B) Cytosine (C) Uracil

W FRAGET (96 RNA TS “I1eq 1 o Ze
(A) ST (B) SMEGIHE (©) TEAFTE (D) &M

Which part of human ear is responsible for maintaining the balance of the body ?
(B) Oval window

(D) Eustachian tube

(D) Guanine

(A) Ear ossicles
(C) Semicircular canal

AR FICTE TR > TR ST ({age 960 2
(B) SOl SRl

(A) = FTSfE 197

(C) SEIBRF it (D) TICHHMEE Tt
Which one of the following groups contains all biodegradable materials ?
(B) Grass, plastic, wood

(A) Grass, flower, leather
(D) Glass, wood, brick

(C) Vegetable peels, glass, balloon

feraferf<re tom tadta 4 Semieg S R 2
(A) 17, T, bITer (B) M, 2ifEs, w515
(D) <5, F15, 35

(C) SR AR, Flb, (aeg
In which hotspots of India, you can find one-horned Rhino ?
(B)  Sundaland

(A) The Western Ghats
(D) Eastern Himalayas

(C) Indo-Burma
GrRTEA (1A T6715- P GWF ST (e i 9
(A) sAfegrels B) 7 °l7‘|i"]l‘/5‘ | (C) ‘EYTWFW (D)  *4 fewery



26. The disease AIDS is caused by

27.

28.

29.

ANM(R) & GNM-2022

(A) Bacteria (B) Virus (©)
G2 [AfoT SR 7

(A) TR (B) ©IZAMT (C)

il

The theory of Natural Selection was proposed by
(A) Darwin (B) Lamark ©)
Ao o wgfe 73 et 23ie

(A) TS 2 (B) IIE (C)
The fungus used in bread making is

(A) Aspergillus niger (B)
(C) Mucor mucedo (D)
o3 E (oIS (@ 2l IR T ©f 2
(A) Aspergillus niger (B)

(D)

(C) Mucor mucedo

Lactobacillus is beneficial to us because

(A) It can destroy toxin in human body

(B)

(C) It can fix nitrogen

(D) It can cause diarrhoea
Lactobacillus ST 7 SoFI F-g

(A) @ft T Tz e e w8 w0

B @t e e @ 2B T A= I
(©) ff TEGE fFE FA0S A

Protozoa

[€al(ea(CaTRll

De-Veries

o8

(D) Fungi

(D) =Za=

(D) Mendel

(D) TS

Penicillium notatum

Saccharomyces cerevisiae

Penicillium notatum

Saccharomyces cerevisiae

It helps in breakdown of food and absorption of nutrients
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LIFE SCIENCE
Category-I1 (Q. 31 to 40)
(Carry 2 mark each. One or more options are correct. N
31. Identify the correct statements from the followings
(A) Rhizobium is a symbiotic nitrogen fixing bactetia
(B) Leg-haemoglobin is present in bacterial cells
(C) Conversion of nitrogen to ammonia is called denitrification
(D) Nitrogenase enzyme converts nitrogen to ammonia

o negative marks)

(B) (@ RaIEw ARBRAR @iy T8
(C) TEREE SIS Fesie e Gaehwre=m
(D) TR SLTHF MRGEEAE TS FoRfTe F

32. Which characters are found in fungi ?

(A) Cell wall made up of chitin (B) Unicellular and prokaryotic organisms

(C) Presence of coenocytic mycelium (D) Reserve food is starch

M (IS Rae (TAre #New 3w ?

(A) T ST W e (B) I ¢ (AERSHE e

(C) T MErTer $4fge (D) T MY 2 (JOAR
33.  Which of the followings are mosquito-borne disease ?

(A) Dengue (B) Malaria (C) Yellow fever (D) Chicken Pox

frafefeefem W R T-afEs et 7

(A) T5F (B) e (C) Aous (D) & T
34. Which statements regarding TMV are false ?

(A) Itis a bacteriophage (B) It’s genetic material in RNA

(C) Itis aicosahedral virus (D) It infects tobacco plant

TMV 7S 7 Eferefa g 2

(A) <t @zl arafeTe (B) - «f63 tarsiow o 2e1 RNA

(C) b a3l SETFFIEGE SR (D)” «ff ST Mt HewwEie w7
35.  Identify the correct statements regarding meiosis

(A) It occurs in somatic cells (B) Four daughter cells are produced

(C) Crossing over does not occur (D) Itis a reductional division

faraifr wose How Efeefe fden =

(A) aft 07Z TR T (B)" b o rary Beom g

'l
(C) wﬁtﬁm‘_@ﬂ o (D) ot @ g e

ANM(R) & GNM-2022 (Shift-1) 8 mym D



36. Identify the correct sentences
(A) Telomere contains heterochromatin
(B)  Eukaryotic chromosomes do not have histone proteins
(C)  Euchromatin region doeg not carry active genes
(D)  Spindle fibre attaches at the centromere
HoF AwTef e wq
dA) TR Rt are
B) EFRNH= e TS tefew e =
(C) TTETMHR Sestet erw form s
(D) Fres wzem erdmfinm Y 7
37. Which of the followings are examples of C, plants ?
(A) Potato (B) Rice (C©) Maize (D) Sugarcane
MR e C, S Swreaa ¢
(A) e (B) uw © 3 (D) =y
38. Inhibin is secreted from
(A) Sertoli cells (B) Granulosa cells
(©) Complementary cells (D) Seminiferous tubule
FARIH T terre whe =
(%) e (B)  afStemT tory
(€) fep (D) T Befes
39.  Which of the followings are purine base ?
(A) Adenine (B) Cytosine (C) Guanine (D) Thymine
rafefresfem rmb frefm @ o
(A) =refm (B) MEEIE (C) wHfw (D) «Rfim
40. Which components are found in phloem ?
(A) Sieve tube (B) Tracheid
(€) Wood fibre (D) Companion cell
TFIAe-« 1aW Soammefa «nea am ¢
ANM(R) & GNM-2022 (Shift-1) ’
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43.

44.
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PHYSICAL SCIENCE

5)
Category-I (Q. 41 to 5 o g o
(Carry 1 mark each. Only one option is correct. Negative mar 4)

Which of the following is a vector quantity ? .
D) Time

(A) Weight (B) Mass (C) Area (D)

o< @ 1537 A 2 .

(A) €&« (B) ©7 (C) THaTe (D) ¥

A student was cycling to her school at a uniform speed 10 m/sec. She pressed the brake

near the gate of her school and stopped in 5 sec. How much force she applied through the
brake ? Consider the mass of the student and the cycle together 1s 50 kg.

(A) 50N (B) 200N (C) 100N (D) 10N

GFEH ZI@ 10 m/sec ANMSTS A2 bIfelCy FeT AR | FCe19 (IO AT 9T T {9
B 6 5 TS W7 (I A | TIN5 ({ER AR F© I6 2LRel SRR 2 €03 7
Bl@ @ AR(IEF TG S 50 kg |

(A) 50 586+ (B) 200 f¥856+ (C) 100 86w (D) 10 485+

Select the right answer.
An object will float in a liquid while completely immersed when

(A) its weight and the buoyancy are equal.
(B) its weight is less than the buoyancy.
(C) its weight is more than the buoyancy.
(D) both weight and buoyancy are zero

oz Tealb Wb %4

GG T T S oo Fafeere g SrmW %@ 3

(A) T GTF 8 TS| I T | (B) 9 ¢&+ gaom U % 77 |
(C) =TI ST 7O (2A(F (3 =7 | (D) < GO @ 2l 72-% w7

Select the right answer.

A Helium atom contains

(A) four protons and four electrons.

(B) four neutrons and four electrons.

(C) four protons and two electrons,

(D) two protons, two neutrons and two electrons.

wow Twaft frdea o= N

B e RS A te

(A) b0 &7 @ Rt Zred (B) mﬁm@mw

(C) rafb L2 @ wfb Fred (D) 10 TeNB, ot e  wfs e
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45. Suppose that at any cert‘ain temperature, 20 g of common salt dissolved in 50 g of water
makes a saturated solution. Then at that temperature, what is the solubility of common

salt in water ?
(A) 70 (B) 40 (C) 30 (D) 1000

mmﬁﬁﬁwmsogmzogmmctmq@camﬁmgwﬁmqmm
ofef | STRCE @ SIS W & I BT T 7
@A) 70 (B) 40 () 30

following table select the correct matching between the compound

(D) 1000

s named in first

46. Inthe
column and the classification names given in the second column.
Compound Classification
(1) CaO (a) Acid
(2) NaOH (b) Base
(3) CaCl, (c) Alkali
(4) HNO; (d) Salt N
(A) 1-b, 2-c, 3-d, 4-a (B) l-a, 2-b, 3-c, 4-d
() 1-d,2-, 3-a, 4-b (D) 1-b, 2-d, 3-c, 4-a —
S RS o AL TS T 0T s B Tre i AR ASE ARG
ffr e
Compound Classification
(1) CaO (a) T
(2) NaOH (b) FRIE
(3) CaCl, (c) =R
(4) HNO; (d) 4

(B) 1-a,2-b, 3-c, 4-d

m 1-b, 2-c, 3-d, 4-a
(D) l‘b, 2-d, 3-c, 4-a

(€) 1-d,2-c, 3-a,4-b

Molecular weight of oxygen and nitrogen are respectively 32 and 28. Also at normal
lemperature and pressure, the volume of 32 gram of oxygen is 22.4 litre. What will be the
of 28 gram of nitrogen at the same pressure and temperature ?

- 22.4 litre (B) 19.6 litre (C) 25.6 litre (D) 44.8 litre

- S ¢ wegeTT WA o U 32 9 28
| mzz.mmumamttswumzsmmmﬁ

@) 19.6f0m (C) 2560w D)

it vt s

2022 (shift-1) 1"

| g Twer @ B 32 AW
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48. Select the right answer.
If a ball is thrown straight upw
(A) potential energy is zero and kinetic e /
(B) potential energy is maximum and kinetic energy 15 zero.
(C) potential energy is zero and kinetic energy is maximum.
(D) potential energy is equal to kinetic energy.

Sualt fREe | .

ﬁﬁﬁ%@ﬂ@é@ﬁcﬁmﬁnﬂwmwzﬁwmw |
(A) ol o s sfexfEms 0 2| @) fefefes e o sife=fes [ 23
(©) fifenfe = e ofeefe wdfewzm (D) R @ e T 2H

49. If the volume and pressure of a certain amount of an ideal gas are respectively V, and P,
respectively at another absolute temperature

at an absolute temperature T, and V, and P,
T,, then which of the following equivalence relation is correct ?

o «=fs FfFE e @ e T T, o THOTH SASA 8 b7 TAETH V, G P,
27 @R T, R WO WIEI V, Pzﬂwﬁmmwm‘ﬁm?

ard, when it reaches its highest position, its

nergy is also zero-

PV, P,V PT, P

(A) _:‘_'_:_Z__z. (B) Ll = i{ 2

/ L T Vi 2

g S D) P,V,T,=P,V,T,
VlTl V2T2

50. When parallel rays of light coming from a faraway distance fall on a concave mirror
parallel to its main axis, they meet at a point after reflection. This point is called
(A) pole (B) centre of curvature

(C) focus (D) axis
TeVEITe GFew TG S a3 TR A ge wE R wiefes T

Mﬂaazﬁﬁﬁwﬁﬁwmutﬁﬁﬁmw
(A) T (B) T T8 (C) TH= . (D) ww

51. Suppose that the focal length of a convex lens is f. If an object is placed at one side of the

lens on its axis at a distance 2f
(A) Aninverted image will be created on the other side of the lens at a distance f.

(B) An erect image will be created on the other side of the lens at a distance 2f.

(C) An erect image will be created on the other side of the lens at a distance f.

(D) An inverted image will be created on the other side of the lens at a distance 2f.
WW@WWWWW“WW@WWEWWﬂ
ALY A TG A

(A) TETE S fire £ 0y @D smd afefa o ara
(B) T e g of qATy 4 TN ety R zra
(C) rerra 5 it £ vparg <o o afef I ww
(D) TR T PR 2R D s SR o w

L TP

(22 (Shift-1) 12
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54.
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Select the correct answer,

When a ray of mon

ochro

other side matic light of red colour passes through a prism, we get on the
€

(A) only one red coloured band of light

(B) seven band ‘ i

. 1 s of light of colours violet, indigo, blue, green, yellow, orange and red
(C) only one band of light of green colour
(D) no band of light at all.

mwﬁmm|

4@ 7 T @ ¥y @ forerram ey FR T WO TP

(A) @3 @ T e AT oW A |
(B)/Wﬁ,%,Wﬁﬂ,m,w,m@am-a?ﬂwﬁacwﬁmmwl
©) @6 W@ wgE e A% e ;W

(D) TICA S AfBT “Mew A= A

Whic.h one of the following elements does not easily participate in any chemical
reaction ?

(A) Carbon (B) Sodium (C) Argon (D) Nickel
mﬁmﬁammﬁwmmmﬂmm@mm
(A) I (B) A () et (D) =

The foul smelly gas that evolves when dilute sulfuric acid reacts with ferrous sulfide at
normal temperature is

(A) hydrogen sulfide (B) methane
(C) carbon mono oxide (D) nitrogen
mwm WWWWWW@WWEW SIS
e |
T @) fie
(D) RS

~ Which of the following is an electrovalent compound ?

B) CO, (C) NaCl (D) H,0




ANM(R) & GNM-2022

PHYSICAL SCIENCE
Category-II (Q. 56 to 60) .
(Carry 2 mark each. One or more options are correct. No negative marks)

56. I?}stance Y

Time

T,
Distance-time graph of two bodies

X and Y are shown. Which of the following
Statements are true ?

(A) Y has higher initial speed than X.
(B) Y moves with uniform velocity.,
(€) X moves with uniform acceleration.

(D) After time T, Y’s speed is higher than that of X.

xeyqﬁa@aw—mmmmlmmmmﬁmy
(8) Y-a3 e gfe X-93 srefie gion e @h |

(B) Y TSI 5 |

(C) X G 5 |

B) T, TR M Y -7 T201 X -7 TR 00 T2 |

§7. If a thin hollow metal cuboid of weight W
a tank of clean water, then which statement

(A) Tt will float if W < L3,
(B) It will sink if W < L3,

gram and each edge L cm is gently released in
S are true ?

(C) Tt will float in fully immersed condition if W = 1.3, E
(D) Tt will sink if W = L3,

@mwmeaﬁsﬁmumﬁﬁmwﬁtﬁmemmwawm
AT B TRLE TS X0 A6 Tl (7 Sferefer fder zra

(A) AW <L’ R w7 SrTe e |
(B) AW W <L T O3 w73 $ra e |
©) ,,ﬁwzmwmmwﬁﬁumwmmml
(D) T W= L3 T8 O T gra aa |
ANM(R) & GNM-2022 (Shift-1) 14 & D
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A ball of mass 100 g is thrown vertically upward from
what will be its velocity and acceleration when it is at a heigh

ground with a velocity of 100 m/s,
tof375m?

(Consider acceleration due to gravity = 10m/s?)
2 Jownward.

(A) Velocity = 50 m/s upward, acceleration = 10 m/s
2 Jownward.

(B) Velocity = 50 m/s downward, acceleration = 10 m/s

(©) Velocity = 50 m/s downward, acceleration = 10 m/s? upward.
(D) Velocity = 500 m/s upward, acceleration = 10 m/s? downward.
/s T O 3 24 | P (0

100 g SRR @3 IF o tare e e 100
375mmmaafﬁmwwwm?(@m,mwwomz)

(A) T =50 m/s S, 929 10 my/s? AT |
B) @1 =50 m/s NI, T 10 m/s? AT |
(©) @"f=50m/sﬁ§17{c?f,wcr10m/52'\‘5‘§’qc¥r|

(D) T3 =500 m/s S, T3 10 m/s? faee |

When a vocalist and accompanying instruments play the same note,

(A) Sound waves produced by all are identical.
(B) Fundamental (lowest) frequency produced by all are same.
(C) Sound content of other frequencies differ among them.

(D) Intensity of sound produced by all are same.
wmmemwmaﬁmmem,w

(A) @g\smm@ﬁaﬁﬁs‘wﬁaﬁmwu
(B) mmmﬁawam

(©) chmmﬁr@wmwmwmmmﬁﬁwwn
(D) ot @ 2o TE TS HHGfeTs R T |

How can the gravitational force of attraction between two bodies increase four times ?
(A) If the mass of any one body increases four times.

(B) If masses of both doubles.
(C) If the distance between them increases four times.

(D) Ifthe distance between them is halved.

S P e—— T VR LR G RELER SR Dl R e h
(A) s T @l %7 @4 b o P

(B) % wfbag w7 fawa 3% I |

(C) = 7 wfba W g b1 o 3 <M

(D) iy 7 wfbw Wy Ay WEF 2 |
’ B
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ENGLISH

Category-I (Q. 61 to 75) ! i
(Carry 1 mark each. Only one option is correct. Negative mar ks : = %)

Select the correctly spelt word.
(A) Cemetry (B) Cemetery (C) Cemetary (D) Cemmete

Select the correctly spelt word. . :
(A) Appropriate . (B) Apropiate (C) Apropriate (D)= Ap p:‘/(?pla

A sentence is given in direct speech. Out of the four alternatives given select the
which best expresses the same sentence in indirect speech.

He said to me, “What time does the office close ?”

(A) He wanted to know what time the office close.

(B) He asked me what time did the office close

(C) He asked me what time the office did close.

(D) He asked me what time the office closed.

Choose the word, which has nearly the same meaning as ADMONISH.

(A) Praise (B) Appeal (C) Support (D) Rebuke
Choose the word, which is opposite in meaning to JEER.
(A) Clear (B) Mock (C) Praise (D) Sneer

Choose the word that can replace both the words in bold italics in the two giv
sentences.

. The management did not find him suitable for the job of a clerk.
II.  Akash could not arrange all parts of the machine properly.

(A) fit (B) employ (C) finish (D) adjust

Choose the word, which can most appropriately replace the bold italicized words int
given sentence.

A person can be sentenced to death for killing another human being.
(A) patricide (B) homicide (C) genocide (D) fratricide

Choose the option, which can best replace the group of words given :
‘One, who possesses varied talents’

(A) versatile (B) talented (C) gifted (D) excellent

Observe the two italicized words in the following two sentences and give yo
observation by choosing any one option below.
I Weshould not interfere in one’s personal affairs.
II.  The personel of civil services are a proud lot.
(A) Only sentence-I is correct
(B) Only sentence-II is correct
(C) Both sentences [ and II are correct
(D) Neither sentence I nor sentence II is correct

N i vy o v i

- il oLy
ANM(R) & GNM-2022 (Shift-1) 16
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72.

73.

74.

75.

76.

2.

8.
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Choo the most effective word to fill in the blank to make the sentence meaningfully
mplete:
g)(;ﬂy those who have completed seventeen years of age are to apply for the
X imfu.o o Al
(GA)( ehglble (B) legible (C) selected (D) 1]leg1ble

pijl in the blank with the most appropriate word/ group of words to make the sentence
meaningfully complete.
The horse stampeded and tore the street.

(A) after (B) off (C) down (D) out
Fill in the blank with the most appropriate word/ group of words to make the sentence
meaningfully complete.
Mohan tries his best to keep the reputation of his family. |
(AP (B) over (C) to (D) on
Find out which part of the sentence has an error. '
[f we have faith in Almighty  everything will turn out / to be alright / and safe
T B / ®) © D)
Select the wrongly spelt word.
(A) Immature (B) Impasse (C) Immaculate (D) Immpeccable
Select the wrongly spelt word. |
(A) Evasion (B) Ovation (C) Erosion (D) Occassion
MATHEMATICS
Category-I (Q. 76 to 85)

(Carry 1 mark each. Only one option is correct. Negative marks : — %)

If cos § + sec O = 2, then sin®® 6 + cos®® 6=

W cos O + sec O = 2 T, ©R( sin?? 6 + cos? 6 =

(A) 0 (B) 1

(C) 2 | (D) None of these / TRIAIOIE 7Y

At 10% interest rate, what will be the ratio of simple interest and compound interest of a
principal in 2 years ?

10% T3, A1 5117 2 T3 73 I 8 5T T SRS I (A 2
(A) 10:11 (B) 11:10 (C) 2021 (D) 21:20

Dividrg 42 in two parts so that one part is equal to the square root of the second part.

(A)’“(Zlm (B) 14,28 (C) 36,6 (D) 32,10
4208 3 s e T 9 T O S SO SO AT T
A 21,9 (B) 14,28 (C) 36,6 (D) 32,10
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79. Madhab deposits ¥ 10,000 for two years in a bank at compound interest rate o

\ ob his brother Nabin deposits same amount of money for the same period }?t n::)tzp‘l)e
N\ °§{f rate of 6%. After two years, who will receive more money and how muc ’
FA X (A) Madhab X 72 (B) Nabin, % 36
GOEY b +(C) Nabin, ¥ 72 (D) Madhab, T 36

14 ‘\““0&2’09‘““ a3 AF 6% bergfa Fra 2 10,000 511 2 42CAA Gy SO AL G T
I’

oh 1o @mﬁ%wmmaﬁwmaﬁmwmamy
2 W@ 3T TR Bl +M1Ta @ae ¥ T #I 2

e
((A) MR, 72 Brt (B) A, 36 B
(C) AW, 72 b= Dy e, 36 B

80. Sujan and Tapan together finishes a work in 8 days. The same work is finished by
and Ashok together in 6 days and by Sujan and Ashok together in 4 days. If all t
them start the work together, how many days will they take to finish the work ?

G- Q IO 8 T K @5 e § AT T A | T 8 ST GFACH 62 T 6
; 7 @R A 8 SNE G 4 T T 3 | T foF SN @ X I T
ek - 6 B T T S T e T A 2

W

=

5
Ly{()}’Bgdays/f\Td (B) 2 %days/w € 2 ?lz-days/%{ (D) 3 days
o 4
8

% 1. There are three square shaped park adjacent to three sides of a garden of shaj

*/ﬂ/ 4 right-angled triangle. Area of the two parks adjacent to the perpendicular and to ti
,&/ \q7 of the right-angled triangle are 400 sq. m. and 225 sq. m. respectively. What is the

M the park adjacent to the hypotenuse ?

Y (A) 25sq.m.  (B) 175sq.m. (C) 500 sq. m. D). 6258

= A fagergfe A fowi g Feaw foai wigfe = sie | 7f fasy

@ Sfi Ay I qHd TFawa IS 400 7 Wo@ @ 225 3o b =7 wre

TR AFOA (FAT F© 7

(A) 252 fabm @) 1753 fBr () 5002 R

~ (D) 6253

/:T ;&'_ﬁ\ = 82. There are 50, 45 and 40 students in three classes in a school and aera

= students in these three classes are 8, 10 and 12 years, respectively. What getla:ge
g)/‘v - age of the students of these three classes taken together ? v

. ¢ 2 (A) Almost 9.85 years (B)  Almost 6.75 years

T (C) Almost 8 years (D)  Almost 12 years

mﬁmmﬁmmmmﬂnﬂmso,%ewmt&_ ‘
4\1»\.\‘ e T 8, 10 12 79 1 W12 & o o e fier g '“ﬂtt‘ﬂﬂx
\> (A) H9.85 T (B) dM6759@%  (C) &gy or e

e ——

ANM(R) & GNM-»ZOZZ (Shift-1) ) 18 oL % i o= R
e -r\f..\\q;‘).(l\ () '\ - L\Sﬁ y
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ANM(R) & GNM-2022

The r00t8 of the quadratic equation 3x2 — 1y 4 ¢ = 0 are reciprocal to each other.

Then ¢~ (B)

53 =2

) C) 3 (D) -3
.(3,#"0"'+°:0|5“5"E'QSQ-C%WM;WWP )
A 2 B) -2 ©) 3 (D) -3

The quadratic equation of x whose roots are — and i is
o

207 T8 oS TRararers Sy %e P ot sritaraa
o

(A) anz_(az A BZ)X'f*aB =() (B) aﬁxz +((X.2+ BZ)x+aB = ()

(© aPx*+ (o2 +Px_gp =g D) x2—(a?+px+1=0

The length, breadth and height of a rectangular cube of copper are 15 cm, 11 ¢cm and
8 om. This cube is melted and converted to 35 identical solid cylindrical rods. If the
height of each rod be 3 cm, then what will be the diameter of each rod ?

(A) 4cm (B) 6cm (C) 8cm (D) 10em

SR (Of G SrrewET (A, o o Tl R 15, 1] @ 8 T | SCTS B
AT ST A 35 16 ST g FCaB Tote 2ot 41 2 | 2 oAfd ol 3 i =71
2 OIR(A BlesleR M oo 279 9

(A) 4T B) 60 ©) 8T (D) 107

GENERAL KNOWLEDGE
Category-I (Q. 86 to 95)
(Carry 1 mark each. Only one option is correct. Negative marks : — Y4)

Ms. Meera Sahib Fathima Beevi has the distinction of being the first lady
(A) Prime minister of Pakistan

(B) Judge of the District Court of West Bengal

(C) Chief Minister of a State in India

(D) Judge of Supreme Court of India

44 Hrafis Trer Az wowt [ fetam,

(A) “Afaas 2= wEe dd |

(B) e foret wmered e wfea faomefe |

(C) SHTw (i ASTA el e |

(D) ®rTw? Jfew e gew W feraefe )

The biggest part of the brain is

(A) Spinal cord (B) Cerebellum
e 7w w2

(A) Tawrs @) vfteE (€ TRER (D) wEE

R) & GNM.2022 (shift-1) e % i

(C) Cerebrum (D) Brain Stem
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89.

90.

91,

92.

3.

94.

95.

ANM(R) & GNM-2022 (Shift-1)

ANM(R) & GNM-2022

Which is the first mRNA vaccine that got Emergency Use License in India ?
(A) Sputnik (B) Sinovac
(C) Moderna mRNA 1273 (D) Pfizer yaccine
@ mRNA STREADE SRS d43 Sele A mﬁaaﬁtﬂ*’fwmm@‘ ?
(A) =PFE (B) fACAEI®

(D) WEGH oI

(C) W& mRNA 1273
Who is known as the Flying Sikh of India ?

(A) MilkhaSingh ~ (B) P.T.Usha (C) Jagjit Singh (D) Souray
FNE Tos P @l 2T 7
(A) frere e B) fofboa () wefas fre (D) TS
Which city is known as the blue city of India ? ;
(A) Bengaluru (B) Agra (C) Jodhpur (D) Delhi
SRTSA [FH *TAF el *12F T 2 ?
(A) AR (B) el (C) T o) ffa
Sodium bicarbonate 18 commonly known as
(A) Baking powder (B) Table salt (C) Vinegar (D) Ajinom
fea AR AT Ft e #Affoe 2
(A) WRReAGER  (B) R GEC] () fefera (D) 0-fET
Which is the largest bone in human body ?
(A) Humerus (B) Femur (C) Coccyx (D) Calcane
TR A TGN g D ?
(A) Humerus (B) Femur (C) Coccyx (D) Calcane
Galileo was an Italian astronomer who
(A) developed the telescope.
(B) discovered four satellites of Jupiter.
(C) discovered that the movement of pendulum produces a regular time measureme
(D) All of the above are true.
IGIE ©

(A) WRAETE todt SRR |
(B) sirza b1 Seterz S ARl |
(C) T AT T8 (e sl T =it t |
(D) TAFE T =62 97 |
Entomology is the science that studies
(A) The origin and history of plants. (B) Behaviour of h i
(C) Insects. v (D) The formation grfnr?)flsf:‘nbb-
faeaa <30 Ml aroraEe ferm 2| A
() Sfewe e o Ao (B) Wi orgfs |
(C) TARIAFTI (D) R oI5 |
Each year World Red Cross and Red Crescent Day is ce
(A) June8 (B) June 18 (CK lb&;;bg ated on
aﬁsmmmmemmﬂ*ﬁwmnmﬁm, (D) May I8
(A) vEEA (B) Sv'% & C )

(C) vErw D) I

20 I!]
e
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LOGICAL REASONING

Category-I (Q. 96 to 100)
(Carry I mark each, Only one option is correct. Negative marks : — Ya)

96. Choose the right optjop, 10 fill in the blank.
MOON : SATELLITE . . EARTH . 9

(A) Star (B) Solar system
(€) Sun (D) Planet

97.  Select the right Option that wi]| replace the question mark and continue the pattern.

O
X @BA\=>T{6.=’>—{A07=>‘7

Choose the right option,

(A)A : O DO
O ()OA © 3 e

98. Which of the following figures does not belong to the series ?

o) 0 20 =

99, Find the odd one out.
(A) Boat (B) Bus

(C) Taxi (D) Rickshaw

Find the right option below where the two given words have the same relationship as,

‘MAN - CROWD’
- (A) Cow-0Ox
- (© Loudspeaker — Sound

% GNM-2022 (Shift-1)

(B) Sheep - Flock
(D) Train - Engine






